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// ——— begin user code —-——
int width = image.width;
int height = image.height;

for (int 1=0; i < reference.num; i++

int x, vy, tx,
int t_width
int t_height

printf(“temnpla

maxmatch = 0;
for(ty = 0; ty
for(tx = 0;

int n, mat

for(n = 0;
X = rand
y = rand

Y

mx, my, maxmatch;

) {

reference.sample[i].image.width;
reference.sample[i].image.height;

e

<
tx
ch

n
()
()

%d\n", 1);

height - t_height + 1; ty++) {

%

width - t_width
0;

300; n++) {
t_width;
t_height;

+ 1; tx++) {

if(reference.sample[i].image.data[(x+y*t_width)*3 ]
reference.sample[i].image.data[(x+y*t_width)*3+1]
reference.sample[i].image.data[(x+y*t_width)*3+2]

match+
}
}

+3;

if(match > maxmatch) {

mx = tx;
my = ty;
maxmatch
}
}
}

match;

image.data[((tx+x)+(ty+y)*width)*3 ] &&
image.data[((tx+x)+(ty+y)*width)*3+1] &&
image.data[((tx+x)+(ty+y)*width)*3+2]) {

set_result ( friends, mx, my, t_width, t_height, reference.sample[i].label );

}

// —— end user code —-—-—
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